R6 SEMHFER TIAKRE FEXRE BFEAKEBHESE
Jovy | #%E | 1| 2|3 RSR | BT
1| &m | © @ 2 _o0f 1 HE Al oF 5
. | 1 ® ®)
A | 2 |isEs| | | | 0—2| 3 | ®EM B2 .
3| K% : i —1] 2| ®=® c2 —— i —2E
: - BESR C1 _|_‘®: = 6 v I—;,%gﬂ“
Jovy | #Re 1| 2| 3 e (IEGz| e 12k
— *xE A2 —] | BEBR
1| &R @ 2 —0]| 1 @ >
| 1 BR  B1 .
B| 2| &% || | | 0—2| 3
0
3 | #EE @ 1—1| 2
Jovy | ke | 1] 2| 3 AR | IE A JIIE {32 7R %€ B,
1 |BEhx C? @ 2 —0| 1 | BEA cowms - %ﬁ?g
Z;
z 2 =3 |
C|2|REM|, | | 0—2| 3 BR  @onsE - IR
3| & o 1 —1| 2 BEE
. ® X
AH ook 1 ol
X$
R6 SIFHHFR FIAKRE FEXE XFEAKEMESE
JOvy | KA | 1 RESR | B AL
1 |BEsr| © 1—0| 1 | ®Eshx D1 o
D | N - ol—2
2 | HEE | 0—1| 2 =M E2 |
T L 2%
; v " - R ————
Jovy | ERA | 1| 2|3 SRR | IEAL i . G Df— BB R
<3 —! . ﬁ% ,
1] =4 | @ 2 —1| 1 ' Qp— z
| ¢ BEW D2 —ZJ_'_ =
E|l2| #% |, | 0—2| 3 @p—
— BE X E1 5
3 lﬁlﬁ ® 1 —1 2
Jovy | ke | 1] 2| 3 BB | IE JIIE {32 7R %€ B,
L1 | oEm | @ @ 2 _o0f 1 BE  OomE L H3ML
i = | | [ A © HER
i F . 2 | BR | | | | | 0—1| 3 | HEM ooxs = =
;13| B4 T ks 0—1| 2 =1
BZ ooms ! EASA
- ® 4
HB oonmE = =5
%4




THEEE sSRMPFRMARE FEXR

HFEER (OIE, BREH%)

5 I 8 T
Z® B O EIH R Z® B O HEPR R
#EE O BERR EREEN EEE O EH EREEN
g£= O BR R g£= O HEE R
g£=fr O HEE REER g£=fr O = REER
g£aH O & R g£AHI O HIB R
gz O K3E REER NI B4 REER
SFEABAEE (OHE. BRA=HE)
50kgik 55kgik
® B O WWHE &5 (1£%-1) ® B O Ak E2F (BB HhR-2)
#EE O TE B (FER-2) #EEE O BA mE (BEHR-2)
g£=0 O HERH &3t (E4-2) g£= O FEOE (FER-1)
g=r O TS KM (BtEFRR-2) B=q T Hb (FR-1)
60kgfk 66kgfk
Z® B O B % (EH-2) Z® B O [FH B (BEEHR-2)
EEE O B A (BEHPR-2) #EE O HA B (REP46-2)
g=f O NH HE (K¥E-2) B=AI e —8 (BtEFPR-1)
g=f O BH ) (E45-2) B={I AR BiE (BEHFR-2)
73kgik 81kgik
= B O 2.7 NI\ (ER-2) ® B O AT ERER (B Em-2)
HEEE O o S (EH-1) #EEE O RA K (FER-2)
B JIE &=t (E485-2) B W B (EFHESH-1)
B=fr
90kg B %
= B O Ak BE (&H-1)
#EE O EF HE (BEErR-1)




ZFEANEAEE (O,

BRSHE)
A4kgik
® B O IR T3 (B4-1)
#EE O Bk w5 1) (BtHEPR-2)
g£=f1 O Kim K (ER-1)
#g=fr O 1 5 A (BEEE-D
52kgfk
® B O FE HHED (BEBEFRR-2)
#EEE O THER (BEHR-1)
g£=fr O JRE #EK (mm-1)
B={I B EHE (=E-1)
63kgik
® B O BH #F (EH-1)
BB O I LE (BEErk-1)
E=AI W iBE (BEBEFRR-2)

A0kgHk
= B O A H 5 (BEm-1)
BB O FEARK K (1£2%-2)
BE={I
B=AI
A8kgik
= B O HEF P& (B BhR-1)
BB O FAR W (BEmE-2)
g£=fr O BE £A (B4-2)
#g=fr O BRIER Z & (BEEE-D
57kgik
® B O R TR (&KH-2)
HEEE O M TEERE (1£2%-1)
BE={I B ORE (=m-2)
70kgik
= B O & H K (BEBEFRR-2)
#EE O KE &/ (&KH-2)




